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Terminology (10 COM)
1 Match each term in the left column with the best definition or description in the right column.

E olynomlal / A symbol, usually a letter, which represents an unknown or unspecified value.
}quatlon 8. A number that can be exactly divided into another.
ike Terms /C/ A polynomial with exactly three terms.

D /EX ression B Any mathematical calculation combining constants and/or variables using any
—— P valid mathematical operations.

I ‘/Pegree 3 Term /E./1253

3’ Vv ,F/ An algebraic expression in which each term consists of constants and/or variables
Simplify

combined using only multiplication (including powers).
A 7amable /G/ Terms that contain exactly the same variable part.

B

E Degree-0 Term ,l/ =21x’y
( Z /ﬁ" rinomial J. Write a mathematical expression in a simpler form.

Factor . A mathematical statement asserting that two expressions are equal.

Modified True/False (3 KU)
State whether each statement is true or false. If false, change the underliried part to make the stat anent true.

2. T/F F"/(a+b —a& Ca'l'b)(a‘”? ﬁ*ﬁbfﬂb{'b Change: _Q +Qﬂb+b
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4. T/F F %2 written without negative exponents is 5 Change: 09 b
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Multiple Choice (3 KU) (b (6 alL? \/{ thar k

Identify the choice that best completes the statement or answers the questlon. Use the provided blank space to

. 3 i >
write the \l?e(correspondmg to your choice. ‘ P: L'L (3?()1 ) _ / J " )/
f

5. (O Y Which expression represents the perimeter of the square shown at the right?
12xy2 (b) 9xy’ (¢) 12x*y* (d) 9x°y*

1
I
|
I

6. d /" Which expression represents the area of the square shown at the right?

@@ 12xy° (b) 9xy? (¢) 12x°y* 9x?y* y
Xy
~ | A=Gry P2 a2t
7. 0 Which of the following is equivalent to —9ab* (9ab) ?
(a) =9(9)aabbbb  (b) —9ab’ + 9ab) @—9 9)aaabbbb  (d) -9+9+9+a+a+a+b+b+b+b
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Full Solutions (Up to 10 COM marks ¢

8. Evaluate.(I0KU)

/@ :i@ucted for communication errors)

(a) -3(52-112)—3(5-11)2 BELE{;[?_——?R (b) —6ab™ —3a(2a-b) lfa——l— and b =3
: 2 _ .
= 3@5-BY)-366) '6 ()% ~a "')[ ’fa) ’f?’)] b/
= -3(2%)-3(36).” = 3(‘;‘5) c-o( —
=8%3%-108 @ x i,(,t)(:ﬂ-) /
9 . /)
= 50 / B %_ —[’l)(%‘f) / @
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9. Simplify. (2 KU) = % i ( L%l) T

(a) —x’y—6xy> +2x’y — 9xy’

*—'><2x/+2xy ny %cy

(b) —fxzy(—6xy2 )(+2x2y)(—9xy2 )
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(¢) —x’y—6xy’ (+2x2y -9xy’ )
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10. Create An area model that demonstrates why (2a+1)(a+4) =24’ +9a+4 (6 APP)

Ta oy A fu = (Qat)(ath) [ Lagic used

a <'13 o e &:‘f hefﬁi chazbmla:c
=C
Joa | o P % laald — Hhon

Y rmounn} A:aﬁ’+ag+a+a+a+01+a+@-}ﬂ+0{+a+[+[+/+/
WY/ = Jo?+ 90 +4
Y (Qa-rl)(a#{-)=§a&+9a+% /

11. Consider the rectangular prism shown at the right.

(a) Write a fully simplified algebraic expression for the volume of the
rectangular prism shown at the right. (For a rectangular prism, V =/wh.)
(6 APP)

V= KWL\
= 3(y+4)(5y-Q) /)
= By+ (D5 Yol ) / » :
:lgx/gvépyféoy “’37&‘/ "

_ e ot y
= 15/ +5/6‘)/ 076‘/

(b) Suppose that each of the dimensions of the above rectangular prism is doubled. What happens to the
volume of the prism? Does it also double or does something else happen? Justify your answer.
(4 APP)

The new cimensions would be as shown in the cAlagran

at- B rl:ﬁh _

S V=oe[2( y+4)j[2(€y—a):7 / 25
- é;(o?')(&)(wt,b)(gy,oy) Y
= HlHSy-2) ) 2D

B)I Cam/Dar/h ‘fo -{'AQ e)fp)’(ﬁ/‘@}’\ /' //(q) KU APP TIPS COM
‘ . 4. -0 -0 _p -6
we see that the Volume 1s & Limes 3rea7‘€r

when The side jeygths are dloubled.




12. Lady Gaga has released a new CD featuring the famous rappers Shronn Doggie and Sleepy Prabhnoor Fury.
As shown in the table below, each negotiated a different contract with the recording company. (10 TIPS)

Sheep Mash-

Songwriter e bl
Lady Gaga | $50,000.00 | $2.00
Shronn Doggie | $5000.00 $3.00
Sleepy Prabhnoor Fury l $3000.00 $4.00

(a) Let n represent the total number of CDs sold. Write a fully simplified algebraic expression for the fora
amount the recording company will pay the three “artists” for selling n CDs.

Tot / pa id = amount pé id o Gféga + amoumL/?m‘d T poﬁg)é +amount- fa;'a/ 1o f}z‘??/
ot 7 - In+50000 + 3n +5000 +4n +3000 /'~
@ = 20+ 3n +4n + 50000 + 5000 +3000

(b) What is the total amount the recording company will pay if 1,000,000 CDs are sold?
n= (000000

~ . Total faid in g
- 9(1000000) +5 8000 /

= 4055000 ‘
The recording company must Py 49055000 /F 1,000,000 CDs are 5o,

(¢) Suppose that Sleepy Prabhnoor Fury is paid $483,000 altogether. How many CDs must have been sold?

@) Number'qFC?s Qoii /0?0000 C/?s /nw‘f /mva éfﬁ,
_ —}o%a[,rpafé-i;xed mCB._ / sold F 3/65/7 veceived o
ekl <50 M0 /’”/MfOf #483,000

LfZﬁOOQ-BOOO ': /&0000

(d) Is it possible for either of Sleepy or Doggie to earn more than Gaga? Justify your answer.
I+ a very la% numbtr & CDs s %lof/ thon S[ge/)/ and
~ %)6 can Carvy more e, ‘c?c, b.ecaasc 7%@), gq&, recé/ve
& more per CDVior exa»f/f/ ' n=000000,

Gota Carms  2000000) 150000 =A50000
L))J{o, earns 3((00000) + 5000 = 305000 t//
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